H & 0l & AHS B Ml A

Ol Motz =ZOHHSESH X

SN &2
3 FY2 M
CHel BHEI|RAI SE(ROE LRINLSESH) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
31 9,919,851 10,869,779 A949,928
= 1,770,000
Jl 5,569,926
[Ea 2,579,925
Y22 IAE 8,390,549 9,490,355 1,099,806
= 1,770,000
7l 4,231,200
= 2,389,349
EFIIZAE BE (M =EMEELESINH) 3,698,000 6,337,001 22,639,001
= 1,770,000
Il 1,324,000
o 604,000
o ¥ IIE2RXMelAE =0 X 140,000 140,000 0
401 A2 HIRL 201 40,000 40,000
01 Al&H| 40,000 40,000
O2aHIEELMCIAE =80l =3A
(8QE, Haloe)
20,000,000 *2H 2~ 40,000
402 QIF X201 & 100,000 100,000
01 RIENF AL E (XM THR) 100,000 100,000
O2HIEEaXelAE FHOIS KIJA
(2SS, Halos)
50,000,000 #20H 2 100,000
7};’—7?5-4'1-3—2—73El/\l’é*(lﬁlﬂ%OﬂL‘lIliH\l’é QI2FEXHAL 1,250,000 4,313,000 A3,063,000
&
= 1,000,000
) 250,000
403 THXIHMSAH=01H 1,250,000 4,313,000 A3,063,000
= 1,000,000
Jl 250,000
02 SIS0t 2 S A A 1,250,000 4,313,000 3,063,000
Ozt HIAH Ol LA Xl &HAI £ & X1 (BTO)
1,250,000,000& » 14 1,250,000
= 1,000,000
7l 250,000
T HEEMZAY 1,828,000 1,884,001 /56,001
= 570,000
Jl 1,074,000
Ea 184,000
401 AIZHIX S0 1,828,000 1,884,001 /56,001
= 570,000
Il 1,074,000
= 184,000
01 Al&H| 1,824,500 1,877,218 N52,718




M 23
B3 HELB2| AL
CHel BHEI|RAI SE(ROE LRINLSESH) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O7H BN Z&ETA
1,824,500,000& » 14 1,824,500
= 570,000
Jl 1,074,000
T 180,500
03 Al 20HHI 3,500 6,783 A3,283
OR2d ATET ZEBA
3,500,000 14| 3,500
SN HIBEEMZALY 480,000 0 480,000
= 200,000
s 280,000
401 Al HIZL R 0HHI 480,000 0 480,000
= 200,000
Ea 280,000
01 Al&HI 478,272 0 478,272
OUFEM IBER ZHBM
480,000,000 *99.64% 478,272
= 200,000
o 278,272
03 AIESTHYI 1,728 0 1,728
OULEE USSR ZESA
480,000, 000& *0.36% 1,728
EIIZAE 2 (MZ =EMEELESIH) 4,184,661 2,676,895 1,507,766
Jl 2,465,000
s 1,719,661
EIIZAERE MR (2R € IHEE2aHlAE)-2 2,856,253 1,761,199 1,095,054
=
Jl 2,285,000
o 571,253
101 @124H| 7,072 4,908 2,164
) 5,65
o 1,416
04 JIZtN2Z2 XS 2+ 7,072 4,908 2,164
OIIEEXCAE NEHY 2Ry & &
GAReIE = 7,072
—Jl=s 82,3003 x4 »20 6,592
Il 5,272
= 1,320
— St 2,0003 x4 320 160
Jl 128
o 32
—a=4tl 4,0002 x4 20 320
Jl 256
T 64




M 23
B HELB2| ALY
ol BAIIZAIM SE(HOHR 2EINLSSES|H) (o) &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
201 er23 | 785,831 601,072 184,759
Il 628,664
= 157,167
01 At2teltl 61,980 59,580 2,400
OJ=2aXMaAE 2 & =2 58,980
—ANE2g3hl 2,500,000~ 128 30,000
Jl 24,000
s 6,000
—2=XH] 28,980
- ZXH| 60,0002 1182 7,080
Il 5,664
[Ea 1,416
=4H| 60,0003 »3652 21,900
Jl 17,520
s 4,380
OI=FE=HMelANE 2RL HHS(GHED],
sEJ|) 7Y 300,000& x5 & *22] 3,000
J| 2,400
= 600
2 33=4- 723,851 541,492 182,359
OZ=3IHE2EMEAE HIIMNES
22,244,800« 122 266,938
Jl 213,550
o 53,388
O2&Xcl JIAHS I
456,42531 305123 164,313
J| 131,450
o 32,863
OJIs&2=Xel JIHSX
575,000 x405+ 128 276,000
Jl 220,800
o 55,200
OHIItHUEH ==
1,300,000& « 122 15,600
J| 12,480
o 3,120
OXSHZ ALY 72t
1,000,000 *1CH 1,000
Jl 800
o 200
202 04l 9,600 9,600 0
Il 7,680
= 1,920
01 =LHAHI 9,600 9,600 0




2A: BF
HE: HHLUAY
chel: SEI|IEAM 2Y(RIotE SEINESESIHA) (e &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
O=LAIIER L Aol S5 (BH)
20,000 x5 x96 9,600
| 7,680
i 1,920
206 =4l 407,650 293,619 114,031
| 326,120
= 81,530
01 M=l 407,650 293,619 114,031
O YINEEEHelAE 7Y 222,000
—&3tHIoIE 6002 *230,000kg 138,000
| 110,400
= 27,600
e A0 400&+200,000kg 80,000
| 64,000
= 16,000
—S&H 8,000& ¥500kg 4,000
| 3,200
= 800
O==Z=24 & A=HH LA2F 7 4,150
— & ™Al 50,0003 102 x2E 1,000
| 800
= 200
YN PIE 130,000& *53 650
J| 520
= 130
—T0C 23 uAl 200,000 58 1,000
| 800
2 200
—00 53| ©| 43 2EDA
300,000&*55 1,500
| 1,200
i 300
ON=EaHelAlE HtAIE 7 129,500
— i tA O TH 5502 *18,000kg*53] 49,500
J| 39,600
i 9,900
—S5E OIM 4,000 *4,000kg*52| 80,000
| 64,000
i 16,000
OF=HMelAld HItAIE G 2 52,000
—O{tAE O TH 5503 *8,000kg*53] 22,000
J| 17,600
i 4,400




2A: 2E0
B HELB2| ALY
Gl BIED|ZAL 2 (FoKE SEIHHSES|H) GRS
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
—SS&E O 4,000&+1,500kg*52] 30,000
| 24,000
= 6,000
307 QI2Hol ™ 459,600 562,000 A102,400
| 367,680
= 91,920
05 QIZtRIErZ 459,600 562,000 A102,400
OMSEHDIIZ2 |I& HMaldl 459,600
—gEe gsm(25)
600,000& x10E*13] 6,000
| 4,800
= 1,200
—N ASHRANOIERE, 25)
140,000 *270E* 128 453,600
| 362,880
= 90,720
401 AIEHIZL20Hb] 1,178,500 290,000 888,500
| 942,800
= 235,700
01 Al&Hl 1,178,500 290,000 883,500
Ok U =2 BRHIAL HIZRY
HZAIE 4X 200,000,000 14 200,000
J| 160,000
= 40,000
OB: % JIE2L IBHAL 240 1
M SA 250,000,000 * 14! 250,000
| 200,000
2 50,000
Ok 2 JIER: BBHIANL 52| 1
M SAt 60,000,000 34! 180,000
J| 144,000
= 3,000
ONE2L ZTHINE SR LX)
50,000,000 14! 50,000
| 40,000
2 0,000
OJESL STHIAL BEE AL
G201 FOHE X 83,500,000 & 14! 83,500
J| 66,800
i 16,700
OZmHMelAd AeZH (SLIZH)F0M 4
Xl 125,000,000 *34! 375,000
| 300,000
= 75,000




A BE
X B
[ R} oo

=2telALY
Gl BHAI|RAIY 2(TOHE LRINLSES|H) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OJ=E20 SSHAE a2 S
M 08 £X 20,000,000& » 14 20,000
Jl 16,000
Ea 4,000
Ok & IIEER SSXCAIE A
HAEAHES 20,000,000& *14! 20,000
Jl 16,000
[Ea 4,000
405 AHaHE = 8,000 0 8,000
Jl 6,400
o 1,600
01 ML ESFSHI 8,000 0 8,000
O2k % IIEER HMeld el
3,000,000 %14 3,000
Jl 2,400
s 600
Oagd te 2 2,000,000& *14] 2,000
7l 1,600
= 400
Odgd gl ¢ 3,000,000 14| 3,000
Jl 2,400
Ea 600
2 ¥ 2+Xel 17,000 16,800 200
402 2I2FXH=201& 17,000 16,800 200
03 2IZ+2AEAIZHI 17,000 16,800 200
OJtFELdel X NES(E3AE)
170,000,000 *10% 17,000
EZIIZAE2E N3 (AU ASSX) 44,351 33,928 10,423
Jl 31,000
= 13,351
101 @124H| 44,351 23,928 20,423
) 31,000
[Ea 13,351
04 JIZtN22 XS 2+ 44,351 23,928 20,423
OLls&A M=&Y 2=y 44,351
—JlZ2s 82,3006 70! 34,604
7l 31,000
Ea 3,604
-5+ 82,300 x6H 8 3,955
— %X 88,302 6 H 3 1,592
— S| 2,000 6«70 840
—a=4tl 4,000 6 »70& 1,680
—HIRE=2 140,0003 6 »23] 1,680
EZIIZANER2Y X3 (KAHMEHSKIH) 158,981 195,348 A36,367




2A:

Ha: HH LRI AY
Eel: BB IZAIE 2E(RetzZ =ENESESH (St &)
SA - B SRIBH) - MRAR - BAS A HIDEZ
7l 43,000
s 115,981
101 @124H| 83,481 89,348 N5,867
Jl 43,000
= 40,481
MU IIRIMZZENSES 83,481 89,348 N5,867
OB SAIE HE=SRY 212Y 83,481
—Jl2=s 82,3003 x0 85 63,029
Il 43,000
s 20,029
—F=5+g 82,3003 9 12 8,89
—Axtg 88,3002 x0H x4 3,183
—uSH| 2,000 x0 x85< 1,530
—=4| 4,0002 0 +85 3,060
—gHIRE=2 140,0003 9 x33] 3,780
201 Zet2d] 11,600 14,600 A3,000
01 AlR2telHl 6,000 6,000 0
OMHAESAIE 2el 225 F¢
40,0002 100K 4,000
OXNSUEsAIE Roia=HAH JH SIS
500,000 x2CH 2! 2,000
2 Ss2g4l 5,600 8,600 A3,000
OXAMENSKIE MZ=(CI=D], &CIZI)Z
& ==H 1,600& 202 | Ef+50H*20 3,200
OXAMESKE HIIL3
200,000 x 122 2,400
202 048l 2,400 2,400
01 =LHOHI 2,400 2,400
OXHMEsAIE =A2c SXNEH
20,0002 x1H =120 2,400
206 MH=H| 1,500 2,000 A500
01 MHZH| 1,500 2,000 A500
ONAMENSAIE 2ZM, Hlg 7L
30,000& 505 1,500
401 A& HIX R0 60,000 87,000 A27,000
01 AlZH| 60,000 87,000 A27,000
OXNMEsSAE U S ==AE= &bl
At 380,000 »100m* 38,000
OXNHUEHSKIE ZEAE EHISA
1,000,000 #2204 2 22,000
ZII=ANE2E X (XA Ad3SX) 59,071 53,928 5,143
Jl 43,000
= 16,071
101 @124H| 44,071 23,928 20,143




SA 3
ZH: HZLB2IAY
Eel: BB IZAIE 2E(Retz =EWESEEH) (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 31,000
s 13,071
M ORINZZENSE S 44,071 23,928 20,143
OeIEsAl =&Y 2Y 44,071
—Jlzs 82,3003 6 70! 34,604
) 31,000
o 3,604
—F5=4 82,3903 »6 H+8L 3,955
— ¢ x=g 88,390 »6H+32 1,592
— S| 2,0003 6870 840
—248l 4,0002 6% +70& 1,680
—g&¥RE=s 116,600 6 »23] 1,400
401 A2 HIRL R 0HbI 15,000 30,000 15,000
7l 12,000
T 3,000
01 Al&H| 15,000 30,000 15,000
Oos&Xl FA2el S AL
20,0003 *750m’ 15,000
Jl 12,000
Ea 3,000
EHIIZAE2Y X3 (24 ABSA) 1,049,005 615,692 433,313
Il 63,000
o 986,005
101 e124d| 83,481 89,348 ADb,867
Jl 43,000
T 40,481
M ORINZZ2NSE S 83,481 89,348 N5, 867
OLIEsAl =&Y A2Y 83,481
—Jl2= 82,3003 x0& »85 63,029
Jl 43,000
Ea 20,029
-5+ 82,3003 x0& »12& 8,899
—Axt=g 88,3003 x0H x4 3,183
— S| 2,0003 9 »85 1,530
—=4| 4,0002 0 »85 3,060
—8€¥RE=3 140,000 x9 & x32| 3,780
201 et 3| 8,024 9,344 1,320
01 At22t2l] 4,100 4,100 0
Osil +22LIHEE M =8
50,000& x102] 500
Osll sAZclE =72, tIE S ¢
300,000 x 12 3,600
02 S3=gHl 3,924 5,244 1,320




2AM: SE1
B HELB2| ALY
Gl BIRAIIEAIM 2(MOR SEIHLSES|H) (69 =)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
Oskzelg 8834 0lsa
200,00021+122 2,400
OB HANBE
127 ,000& x 128 1,524
401 AlEH|IZL L C0HY] 957,500 509,000 448,500
J| 20,000
= 937,500
01 Al&HI 957,500 509,000 448,500
O24 OIBEX K2z S FHIAIY
20,0002 %1, 100m 22,000
J| 10,000
= 12,000
O2bt o2& |A2els HII2H2l]
24 10,000,000& *23| 20,000
J| 10,000
= 10,000
O24t OIBEA Az F=H FHHIAIY
877,000,000 x14A! 877,000
O2¢4t AISERX =5 S EIISAH
1,425, 925% x27H A~ 38,500
AR XS 22|(RotE =ZINHASELES|H) 364,888 336,289 28,599
J| 301,200
= 63,688
Al G2 (EEHS 2HIRHE)2L 187,771 182,868 4,903
J| 144,000
= 43,771
101 Q124d| 170,671 165,968 4,703
J| 134,894
= 35,777
03 222 (RIH) 22 A2 % 106,292 105,674 618
O2ds SEUAKBS(SAB) 106,292
—1552(1¥) 48,415
22 2,594, 720312 x 128 31,137
J| 31,137
S AH| 140,000& *1H x 128 1,680
J| 1,680
IELE 40,000& x 18+ 12& 480
J| 480
« AXPG 104,678 12 x10L! 1,047
J| 1,047
AZ2ER| 225
19,6272 x 127 5AI 2+ 128 6,477
J| 6,477
2422
104,678&*1.58 x12& 1,885




A BE
X B
[ R} oo

el Ak
Chel: A2 XY 2el(Rote +ZEIHHASESIH) (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
| 1,885
HE S|
2,5, 720 +600%*22] x 14 3,114
| 3,114
- Z32=Y 2,5, 7203 50023 x 194 2,59%
| 1,000
= 1,595
—1052(12) 45,877
= 2,464, 7202 * 18+ 122 29,577
| 29,577
- g Al 140,000& x1E x 122 1,680
| 1,680
ey 40,0002 12+ 122 480
| 480
- AXtE 99,702 * 1810 9%
| 998
Al2tel 2Rag
18,694 * 1527 HAI2H 128 6,170
| 6,170
e R 99,7202 %1 5%« 128 1,795
J| 1,795
HEFOHI
2,464, 7202 +60%* 14 %23 2,958
| 2,958
- H2eY 2,464, 7203 *45%%23| 2,219
| 1,000
i 1,219
—HERES 500,000 x2H x 123 12,000
| 3,416
= 8,584
M IIRNZ2E2XsEs 64,379 60,294 4,085
O8dgs LA ES(2Y) 64,379
=JlEgs 82,390& x2ZH »2462 40,536
| 40,000
i 536
-5 82,390&x2H 52 8,569
— X 88,303 =2« 12& 2,122
—uSH| 2,000 x2H 246 984
—ZMZAlY| 4,000 x2% x2462 1,968
—HE SO 300,000 2 x23] 1,200
—HyERES 350,000 x2H x 123 8,400
—=AZAREEELS P
300,000& x2F*13] 600
201 L2 | 17,100 16,900 200




A BE
X B
[ R} oo

=2telALY
CHl ASRIBRINIY ZR|(TOHR SEIPHSHE) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 9,106
s 7,9%4
01 At2tltl 5,940 4,440 1,500
OEg=z sgd? =& S|
8,000 x8& »60! 3,840
Jl 1,553
2 2,287
O=ZLAY =ES II=7Y
300,000 x2H *13] 600
O+TRYAD YHSE S 7Y
500,000 38} A 1,500
Jl 800
= 700
02 S3=gHl 11,160 12,460 1,300
O=ZZAIXE FAlZ2cbl 11,160
— NS & 28 600,000 14 600
Jl 600
—==U 625,000 < 1CH* 122 7,500
Il 4,153
s 3,347
—S3NERE= 30,0003 *1CH*23] 60
—s X2l 250,000& 122 3,000
Jl 2,000
o 1,000
AR X AZRIALY (E I ALY) 77,000 77,000 0
Il 77,000
206 M=l 37,000 37,000 0
Jl 37,000
01 M= HI 37,000 37,000 0
OEgs Iz Iz ML X
37,000,000 *14{ 37,000
Jl 37,000
308 AFAIEHMSOIE 40,000 40,000 0
Jl 40,000
1 SIS0t EAS A 40,000 40,000 0
Oza FRAYJ| 2EHX |
40,000,000 * 14 40,000
Il 40,000
=OIXIEAY Eot 2 BXIA(SY) 100,117 76,421 23,696
) 80,200
Ea 19,917
101 212A4H| 79,917 68,521 11,3%
Il 60,000
s 19,917




2A: 2#Z
B HELB2| A
CHol: ALARIPIRIXY B2l(RIOIE SEMLSHSIH) (el o)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 SR (RINAHA) 222+ 52,981 42,689 10,292
O=HAS FOUX A 22IAIAE 22l
g 24 52,981
—JlEs(@Bss 19)
2,827,970« 1E« 122 33,936
Il 33,936
—ZHIAHI 140,0002x1&+12& 1,680
) 1,680
—5d2F+ 113,6073 *1.5+ 18«1 171
Jl 171
— o x==g 13,6073 x1& =10 1,137
—N2tel 24y
21,3023 x15A1 2+ 18123 3,835
) 3,835
—SEFOHI 2,827, 9703 x60%*1H 23| 3,3%
Jl 3,3%
—gd2=+ 2,827,970 x50+ 1H*22] 2,828
Jl 2,828
—H3FE= 500,000 «1E* 122 6,000
M ORNZZ2NSE S 26,936 25,832 1,104
O=H7S FOUXAAY 2e|FE AHXEH 26,936
—Jl2= 76,9602 x6 2 x40 18,471
Jl 14,156
2 4,315
— 34| 4,00021%62 x40 960
—uwSH| 2,0003 6 40 480
-5+ 76,9602 x6 H 5 2,309
—Axtg 82,9603 x6H 1 498
—5E2F=+E 76,9603 6 H x4 1,848
—g&3RE=s 395,000 x6H *13] 2,370
201 Ler23 | 14,620 2,680 11,940
Jl 14,620
01 AtR2t2lHl 13,620 1,680 11,940
OFLXAANG =8 A2F ARES 7
20,0002 *665 1,320
Jl 1,320
OF2UXNEANY SS=5 FFID =32 89
12,300,000 * 14! 12,300
Il 12,300
02 S3=gl 1,000 1,000 0
OFLUXAAG =& OHIZ Y& 2ERS
2,5003 400S 1,000
Il 1,000
202 04dl 5,580 5,220 360




M 23
B HELB2| A
ol ALRBRIXN BR|(XoHE SEIYMSES) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Il 5,580
01 2L AL 5,580 5,220 360
OFCINIAAY 27 AEf H2I(F)
20,0003 x38 93! 5,580
Jl 5,580
LESAIMNG (T +ZIHLSE3IH) 143,000 140,170 2,830
Jl 141,000
s 2,000
LEETHHLAIE () 74,000 77,170 A3, 170
Jl 74,000
207 ARl 74,000 77,170 A3,170
) 74,000
01 HESHI 74,000 77,170 A3,170
O'23d +ZAZEHB| HEAZAL 2
EE(23) 27,000,000 * 14| 27,000
Jl 27,000
O'22d +FeESHH| OBBINSY)
47,000,000& x14] 47,000
Il 47,000
SEFE2C(HEZ) 69,000 63,000 6,000
Jl 67,000
T 2,000
207 ARl 69,000 63,000 6,000
Il 67,000
= 2,000
01 =S| 69,000 63,000 6,000
O'28d +HOABYB| WEAZAL 2U
BHE(8a) 20,000,000 * 14 20,000
Jl 18,000
o 2,000
O'2 +ERAER| O|HEIHHN)
49,000,000& *14] 49,000
Jl 49,000
A XA 1,529,302 1,379,424 149,878
Il 1,338,726
= 190,576
clEYE FOUXRAI (Blete +=ZOHHSES) 1,529,302 1,379,424 149,878
Jl 1,338,726
Ea 190,576
2| HEFOUXJ(FH A FRIXJALY) 1,138,726 1,143,059 N\4,333
) 1,138,726
401 AlZHIZ S0 26,483 41,569 15,086
Il 26,483
01 AlZ28| 26,483 41,569 15,086




M 23
BB Lo 0K AL
CHol: RIRIEE EDIXIAAI (TR SEHLSHEIH) (el o)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OtdEE 0=0l tgre £X
10,000,000& * 14 10,000
Jl 10,000
O2AlE S22 & d4+8 wHAI
4,712,000 *14] 4,712
Jl 4,712
ONSOIE 52 THBA
3,157,000 *14] 3,157
Il 3,157
OMBOIE 52 THBA
2,220,000 *14] 2,220
Il 2,220
04202 TSIXT 52 LT
6,394,000 * 14 6,394
Jl 6,3%
402 2I2F X201 & 1,096,963 1,089,545 7,418
Jl 1,096,963
02 QI X2 AL E (01X THE) 1,096,963 1,089,545 7,418
O=HAAFAUXHAIS 1,096,963
—2HE X3 A 527,600,000 *14] 527,600
Il 527,600
—HE XA 1,022, 1952 557 569,363
Jl 569,363
405 AHatE = 15,280 0 15,280
Jl 15,280
01 TR ESF SHI 15,280 0 16,280
Octdd SHSHUEH s5=23 7
15,280,000 * 14| 16,280
Jl 15,280
2| HEFORN (7S FOUX R AR )-XHA 26,941 0 26,941
401 A2 HIRL R 0HbI 7,000 7,000
01 Al&HI 7,000 7,000
Ol sS4 IIBAIE B (M5
2 AYAIA) 7,000,000 +14] 7,000
402 QIF X201 & 19,941 19,941
01 QI X2 AL E A (KEHITHE) 19,941 19,941
OF2UX AL (201232 EHLZLAAl
& £X) 19,941,0003 *14] 19,941
FHTA FORAMSG(SEXH) 363,635 236,365 127,270
Jl 200,000
[Ea 163,635
401 A2 HIRL 201 363,635 236,365 127,270
7l 200,000
= 163,635
01 Al&H| 362,326 235,514 126,812




of
i’
oF
uJ

-

KIO

Hlw

MEE
Ofl &k2h

ol &rey

200,000

362,326

Il

162,326

Mt

- SRA(E) - HIRAY

- o

- ESS

£A

363,635,000 *99.64%

851 458

1,309
1,309

363,635, 000& *0.359%%

£ WAl

03 Al = THHI




H & 0l & AHS B Ml A

20238 =0ilat Motz =ZIfHSEIH A

SN ABE Dt
B mELB2 A
o9l BAIIZAS HE(TARLTHLSHEN) (D2 LEHLSHSI) CEERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ot it 18,631,363 16,369,295 2,262,008
= 4,642,000
Jl 3,282,000
= 946,000
Ea 9,761,363
Y =2clAr 16,543,777 14,203,961 1,339,816
= 4,141,000
) 3,282,000
= 46,000
= 8,074,777
BAIIZAY EF(XAZSENLSLS) (Bl =2 9,899,088 8,430,322 1,468,766
HESE3)
= 4,141,000
Jl 1,536,000
=S 46,000
s 4,176,088
of==2H BIL SXt= XA 2,663,760 2,508,760 155,000
= 1,510,000
) 531,000
Ea 622,760
201 er=2 3| 3,760 3,760
01 AtR2t2|HI 3,760 3,760
OBTL &DHEO} 91/ 2B+
188,000& x5 *43] 3,760
402 212+ X201 & 2,660,000 2,506,000 155,000
= 1,510,000
Jl 531,000
s 619,000
03 2I2+LAEAISHI 2,660,000 2,505,000 155,000
Oodt==2t 1 EHIBTLAIY 23|
120,000,000& 4= 0| 480,000
Oodt==2t 1 EHIBTLAIY U=
2,180,000,000& x 14 2,180,000
= 1,510,000
7l 531,000
Ea 139,000
ol iUl ZXIAI 360,000 360,000
401 AlZHIZ SO 360,000 360,000
01 Al&H| 360,000 360,000
OS2 ot+22(H+4H]) JHIA
3,000, 0002 *40JH 2 120,000
Og22 ot=22 (B==&Hl) ZHIAIL
3,000,000 *40JH 2 120,000
OTAATX S22 (HH=&HI) FHIAY
3,000,000 *407H 2~ 120,000




SN BT
Hu: BYABLIAY
TP BIED|FAIM BE(TODARNLSHES|H ) (M2 2EIHES5/) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ot=2tZ HH| - XHAl 1,585,578 1,790,905 N205,327
401 AIZHIZ SO 1,585,578 1,790,905 A205,327
01 Al&HI 1,579,890 1,784,480 A204,590
ORFE 22 o222 FHIAMY
400, 000 *750m 300,000
Ott=Held J=d s A (A
57,548,000 * 10 2 57,548
Odt=Hel& Jedads8d9(8)
54,028,000 * 104 2~ 54,028
Odt=Held Jedaad(28=,01d)
10,560,000 *29H 2= 21,120
Odt=xeld JedigEd(AA, A%t
10,560,000 *2JH 2= 21,120
Odt=Hel& Jsdaad(nd, HeY)
10,560,000 *2IH 2= 21,120
Odt=Hel& J=dadE8HA (S, &)
10,560,000 *29H 2= 21,120
Ott=Held I e38A (5, HS)
10,560,000 *2JH 2= 21,120
Odt=Hel& Jedas8d(dsd,.28)
10,560,000 *2IH 2= 21,120
Odt=xeld deEBEHA (2
20,000,000& * 14 20,000
Ott=Held FLHASA(E)
20,000,000& * 14! 20,000
Odl=2t2 JI=ae3A(0Hg)
34,000,000 * 14 34,099
OB+ BR J|STSHBA (AX)
48,507,000 *14] 48,507
Otts22 J|2deEA (A1)
30,257,000 * 14! 30,257
Odls=2tz J|=8cSA(FEY)
18,731,000 * 14| 18,731
Ok = ot FA2c & 2AIEFSA
400,000& *1,250m 500,000
Odt=XclE otr2z 252+ & =M
& 3,000,000 *80H 2~ 240,000
OHE & ol=2tZ CCIVEAIS EHIAY
130,000,000 *14] 130,000
03 A2 2 0HYI 5,688 6,425 NT37
Odt=22 FHIAY
1,579,890,000& *0. 36% 5,688
s0HEONS6T ZHIAG(7E) 1,037,500 272,69% 764,805
= 585,000
Jl 364,000
Ea 88,500
401 AIEHIX 20HH 1,037,500 272,695 764,805
= 595,000




SN ABE Dt
B mELB2 A
o9l BAIIZAS HE(TARLTHLSHEN) (D2 LEHLSHSI) CEERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 354,000
s 88,500
01 Al&H| 1,033,765 270,746 763,019
O+8 s0E0I=ot+= EXISA
1,037,500,000& *99.64% 1,033,765
= 595,000
7l 354,000
T 84,765
03 Al 2CHYI 3,735 1,949 1,786
O7E soEOISs+E &XBA
1,037,500,000& *0. 36% 3,735
IOtz = ot=2t2 FHIAY 310,000 937,962 N627 ,962
= 185,000
o 155,000
401 A2 HIZL R 0HbI 310,000 937,962 A627 ,962
= 185,000
T 155,000
01 Al&H| 307,768 932,090 624,322
Odotz =222 JHISA
310,000,000& *99. 28% 307,768
= 155,000
[Ea 162,768
03 AIESTHYI 2,232 5,872 A3,640
OZIotz =2 24Z HHISA
310,000,000 0.72% 2,232
St=Held SSAY(2IHEH) 1,858,000 1,000,000 858,000
= 929,000
Il 100,000
= 46,000
= 783,000
401 AIZHIZ SO 1,858,000 1,000,000 858,000
= 929,000
Jl 100,000
=S 46,000
s 783,000
01 A28l 1,851,311 993,700 857,611
O&lgt BZot=XelAIE SEAE
1,851,311,000& x14] 1,851,311
= 929,000
) 100,000
= 46,000
= 776,311
03 AIZ2THYI 6,689 6,300 389




SN MBS
B mELB2 A
ERl: B3I IZAE ES(AZHENASESH) (2etE =EINESESH) (CHe ® <)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OOt RRo=A2IAE SEAL
1,858,000,000& *0. 36% 6,689
S22 FHIAIG (=S 22 FH[(28HH)) 357,000 480,000 123,000
= 250,000
Il 96,000
s 11,000
401 AIZHIZL S0 357,000 480,000 123,000
= 250,000
Jl 96,000
T 11,000
01 Al&HI 364,429 476,544 A122,115
Oxetz 222 FHIAFY (2EHH)
354,429,000 x 14 354,429
= 250,000
7l 96,000
Ea 8,429
03 Al 2CHYI 2,571 3,45% 885
OxetzZ 222 FHIAFY (28HH)
357,000,000& *0.72% 2,571
St=Zt2HHIAIY (27 L) 196,250 430,000 A233,750
= 100,000
Jl 77,000
= 19,250
401 AIEHIX SO 196,250 430,000 A233,750
= 100,000
Jl 77,000
s 19,250
01 Al&H| 194,837 426,904 N232,067
OF 7 ot-2Z MEAY
196,250, 0002 *99. 28% 194,837
= 100,000
7l 77,000
= 17,837
03 A2 THYI 1,413 3,096 1,683
OF 7 ot=2AZ MEAY
196,250, 0002 %0.72% 1,413
S0IE OtSot== ZUIAIS (CHFE, 00l A S S) 500,000 0 500,000
= 300,000
o 200,000
401 A2 HIRL R 0HbI 500,000 0 500,000
= 300,000
T 200,000
01 Al&H| 496,400 0 496,400




FA: Aot
B mELB2 A
o9l BAIIZAS HE(TARLTHLSHEN) (D2 LEHLSHSI) CEERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o=, Oolktg® soElSot+: &8
BIS AL 500,000,000 *99. 28% 496,400
= 300,000
Ea 196,400
03 AIESTHYI 3,600 0 3,600
OUPE, DI0IMLR SOENISHEE &
BIS AL 500,000, 000&+0.72% 3,600
St=2 2 HHIAIY (SEGHE) 431,000 0 431,000
= 302,000
Il 78,000
s 51,000
401 Al HIZL R 0HHI 431,000 0 431,000
= 302,000
) 78,000
o 51,000
01 A28l 427,8% 0 427,8%
OSEotx otr-2tZ AMEAE
427,896,000 x14] 427,8%
= 302,000
) 78,000
[Ea 47,8%
03 AlE S THYI 3,104 0 3,104
OSgotx of=22 MEAY
431,000,000& %0.72% 3,104
=T FOXZAS(SEXR) 600,000 0 600,000
Il 300,000
= 300,000
401 AIEHIZ SO 600,000 0 600,000
Jl 300,000
Ea 300,000
01 AlZH| 596,220 0 596,220
OddH HA=Slls d+=k SsAEY
600,000,000 *99.37% 596,220
Il 300,000
o 296,220
03 Al 20HHI 3,780 0 3,780
ONFD A2S0IS H4E 23
600,000,000& *0.63% 3,780
EZI AL 2(TetE SZNLSEA) (D2 = 5,644,689 5,773,639 A128,950
ZOHESE3I)
Il 1,746,000
s 3,898,689
BFIIZANE2Y XA (SY) 4,004,213 4,080,338 13,875
Jl 1,745,000
[Ea 2,349,213




SN ABE Dt
B mELB2 AR
ool BAIIZAL SY (XA FEHLSHEN) (D2 +EHLSHIH) CERED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 708,000 712,620 A4,620
Jl 388,800
= 319,200
2 s5=34l 708,000 712,620 A4,620
Odt=HelAd Se2d dE8ad|(H
S 300H=) 11,000,0002  12& 132,000
Oodt=HelAIE SHEZE ¥ AIHEE 2
S2(300H2) 2,000,000 *30IH 2 60,000
Odlezz 222(300H4)
1,000,000 *307H 2~ 30,000
OXtEEot=XclAlE Y|
9,000,000& *12& 108,000
Jl 86,400
s 21,600
OSEESotrxiclAlg &5
1,500,000& «12& 18,000
Il 14,400
= 3,600
OA72ot=HMelANE (A S 300HA) XY
30,000,000& 123 360,000
Il 288,000
s 72,000
307 212+01& 3,033,213 2,959,718 73,495
Jl 1,034,630
s 1,998,583
05 2IIRIE =2 3,033,213 2,959,718 73,495
O33ot=HMelAle 2EASZHI(SY) 3,033,213
—S3ot=HeAE 29 ASFHI(SE-T
o) 1,297,833,000& x 14 1,297,833
Jl 646,600
s 651,233
—330t=HelAE 2E ASZH(SL-28
&) 165,530,000 * 14| 165,530
Il 109,600
= 55,930
—S3ot=HeAE 29 ASTHI(SL-2
2 280A) 1,569,850,000& * 14 1,569,850
Jl 278,430
s 1,291,420
402 2I2E X201 & 363,000 408,000 55,000
7l 321,570
T 31,430
03 2IZHRAETAIHHI 363,000 408,000 /55,000
O33ot=HMelAlg AIENE(U=aHI-2&
) 353,000




2A:

oot
B mELB2 AR
Pl BIIRAIM 2H(HOR 2ENLSE|H)(RoHR +EIHESE3]H) (69 =)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—Z23ot=HMelAl" A& t&HI(2
2-A7E2 2021) 353,000,000 x 14 353,000
Jl 321,570
Ea 31,430
ot=XelAle 298 - A 1,543,484 1,689,337 145,853
101 21AH| 1,328 1,309 19
04 JIZtN2Z2 XS E 1,328 1,309 19
OS&ot=HMeld =2TA 22 1,328
—JlEs 76,9603 x 142 +43] 1,232
—=4| 4,000 x1H 4L =43] 64
— S| 2,0003 18 x4 2L =43] 32
201 etz 3| 380,440 370,760 9,680
01 At 2|l 132,040 120,160 11,880
O33otxicld 2l S|
8, 00024 +521* 152 %128 7,200
OZTE4HT £BAN 242
120,000 47 A +43] 22,560
O335tsHMeld 2elthd SHEIH YR
d) =8 85,000,000 *14] 85,000
OB+ HRIZYHE SR+
120,0003 9 +53] 5,400
Odt=k 2IEXcIE Xt Xt
990,000& 122 11,880
02 S3=gl 248,400 250,600 2,200
O&t=2 46t 838l (Gt+5)
2,400,000& %12 2,400
OARIGt=Hel AL (X2 § 160HA) 8 S
u 13,100,000& «12& 157,200
Odt=HelAL SE2d ds8ad(ddd
A2 160HA) 3,100,000& 12& 37,200
OdtxiclAle SHEZE & AHEE 2
SE(16712) 2,000,000 * 1694 2~ 32,000
Ott=2t2 2182=(16012)
1,000,000 * 1690 2 16,000
Odt=k 2IEdXcE g |RF|
300,000 * 122 3,600
202 04dl 8,000 8,000
01 2L AL 8,000 8,000
Os&otrxcld 2gacl AHEd
20,0003 x5 +80! 8,000
307 212+01& 940,716 1,022,268 A\81,552
05 2ItRIE = 940,716 1,022,268 81,552
OARIE=HelAE 29 AASZH(S8S
-AR2160HA) 940,716,000 x14] 940,716
401 AIEHIZ SO 80,000 140,000 260,000
01 Al&H| 80,000 140,000 60,000




SN MBS
ZH: FH4LB2 A
Pl BIIRAIM 2H(HOR 2ENLSE|H)(RoHR +EIHESE3]H) (69 =)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXABTot+HIZ SNzl 8
80,000,000& » 14 80,000
402 2IZtA=01d 133,000 147,000 14,000
03 2IZ+RAETAISHI 133,000 147,000 14,000
O33atsHMelAld AIEME LI (g2l
2-A2 8A) 133,000,000 * 14! 133,000
eIZEX(Gt=HelE) sAl2e 6,992 3,964 3,028
Jl 1,000
= 5,992
101 @124H| 1,992 1,964 28
M ORIMZZ2NSE S 1,992 1,964 28
OLIS&A HZ=MAH 22Y 1,992
—Jlzs 76,9603 2 *4 2 x32| 1,848
—=4| 4,000 x2& #4 2 +33] %
—uwSH| 2,0003 28 »4 & *33] 48
201 Eer23 | 5,000 2,000 3,000
Il 1,000
= 4,000
02 s5=34l 5,000 2,000 3,000
OS&EX [AZE(SARMA, H2S 2
> 2 MIIed ) 5,000,000 14| 5,000
Jl 1,000
o 4,000
HEY 2R A (EEY) 2,287,586 665,334 1,622,252
= 501,000
< 900,000
[Ea 886,586
EEIIZAE BE (M =EMEELESINH) 2,246,000 624,000 1,622,000
= 501,000
=S 900,000
s 845,000
St=Zt 2 A HIAMY (&I2F2) 143,000 220,000 AT7,000
= 100,000
[Ea 43,000
401 AlEHIZL SO 143,000 220,000 AT77,000
= 100,000
= 43,000
01 Al&H| 141,970 218,416 NT6,446
OTeR(224) otz AEAY
141,970,000 *14] 141,970
= 100,000
Ea 41,970
03 A& THYI 1,030 1,584 AB54




oot
HE-ZLAG (8TY)
BANZAL HE(TZ FRINLSHE) CEERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHAAS2A) stz AL
143,000, 0002 %0.72% 1,030
s0E OtSot+=c FHIAG(MH) 603,000 404,000 199,000
= 401,000
o 202,000
401 Al HIZ S 0HHI 603,000 404,000 199,000
= 401,000
o 202,000
01 Al&HI 599,201 401,091 198,110
ONE SOENISS4E SXIZA
599,201,000 x14] 599,201
= 401,000
= 198,201
03 AIZ 2 THYI 3,79 2,909 890
OXE sO0ElS0teT EXISA
603,000,000& *0.63% 3,79
IS sOEO0Sot=E ZUIAE(E NEABUEII3) 1,500,000 0 1,500,000
[ 900,000
Ea 600,000
401 AlEHIZL S0 1,500,000 0 1,500,000
S 900,000
= 600,000
01 Al&HI 1,494,600 0 1,494,600
OZs s0E0ISos=E EXISAHE X
AZEUSII3) 1,500,000, 0002 «99.64% 1,494,600
= 900,000
o 594,600
03 Al 20HHI 5,400 0 5,400
OZs sO0lELS0=E EXIBAHE XY
AZUHEII3) 1,500,000, 000& +0.36% 5,400
EFIIEAE 2 (T +=EIHLSESIN) 41,586 41,334 252
2 ¥ 2+Hel 41,586 41,334 252
201 er23| 10,736 10,484 252
01 At2teltl 4,000 4,000 0
OMelot=XelAlE =E2BA ==
50,0003 *200H A 1,000
Oti==&H| 21510t =2ArH(EE K
X) S22 M 3,000,000& *14] 3,000
2 S5=2g4l 6,736 6,484 252
OJfelst=xMelAld T2 08 |24
328,000 122 3,936
OMelgt=HMelAld WREA QHIZ ¢S
4002 +3,5000H A-#22] 2,800
402 2I2F X201 & 30,850 30,850
03 2I2+LAEAISHI 30,850 30,850




FAM doteE1t
Hu: HESRIAY(HE)
tel: BFIIZAE 2(Vekz +ZWESEA) (SH9 H2)
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
O2wdel X nE2(EH+5)
8,500,000& *10/100 850
O2h =8, 2L Hel =2 DAY
HIORRIGt =X 2IAI4)
50,0002 *1,2000H A:+50/100 30,000
a2l 800,000 1,500,000 700,000
OllBIEI(RIokz ~ZON S SE3IH) 800,000 1,500,000 A700,000
OllIHI (= EHS SE31) 800,000 1,500,000 A700,000
801 OfielH 800,000 1,500,000 A700,000
01 EHoliblgl 285,512 0 285,512
ogetolglgl 285,512,000& 285,512
02 XHoH - =AY 514,488 1,500,000 A985,512

Ol = H 0lHIH] 514,488,000 514,488




